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QUESTION 1

Which are two key Cisco benefits of the web threat-centric solution? (Choose two.) 

A. Data Loss Prevention with NGFW 

B. Endpoint device profiling with ISE 

C. E-mail encryption with CRES 

D. Malware blocking with AMP 

E. Rogue web application protection through CTA 

Correct Answer: DE 

ASAS Security Threat Centric Solutions - AM and SE Module 7 

 

QUESTION 2

Which are two main features of ASAv and NGFWv? (Choose two.) 

A. File trajectory 

B. API-based management 

C. File reputation 

D. Agile provisioning 

Correct Answer: BD 

ASAS Security NGFW and NGIPS SE Module 4 

 

QUESTION 3

Which are two main features of Intrusion Prevention? (Choose two.) 

A. Threat analysis through network behavior analysis 

B. Protecting against Zero-Day attacks 

C. Layer-4 traffic monitoring across platforms 

D. Vulnerability-based threat management 

Correct Answer: AD 

 

QUESTION 4

Latest 500-651 Dumps | 500-651 VCE Dumps | 500-651 Exam Questions                                2 / 3

https://www.geekcert.com/500-651.html
https://www.geekcert.com/500-651.html
https://www.geekcert.com/500-651.html


https://www.geekcert.com/500-651.html
2024 Latest geekcert 500-651 PDF and VCE dumps Download

Which are two main features of Stateful Firewalling? (Choose two.) 

A. Clientless lagging 

B. File retrospection 

C. Full VX LAN support 

D. File reputation 

Correct Answer: AC 

Explanation: ASAS Security NGFW and NGIPS SE Module 4 

 

QUESTION 5

Which Cisco solution falls under cloud security? 

A. Umbrella 

B. Identity Services Engine 

C. Firepower Threat Defense 

D. Cisco Defense Orchestrator 

Correct Answer: D 

ASAS Cisco Cloud Security SE ?Module 3 
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